12 GA. GALV. RESIDENTIAL
TOP ROLLER BRACKET
ATTACHED W/<4) 1/4" x
3/4" HEX HEAD SCREWS
PER BRACKET

ADJUSTABLE ROLLER CARRIER
[ o °::><<////ATTACHED W/ @ 1747 x 1/2°

BOLT & NUT PER BRACKET

\

2“ 10 BALL STEEL

STEM HURRICANE ROLLER
W/ RETAINERS FOR

NON THREADED SHAFTS

9.5

4 1/2°
W/ (3) 174" x 3/4*
HEX HEAD SCREWS AT
EACH END STILE

TYPICAL TOP FIXTURES 1

N.T.S.

20GA. R-TRUSS ATTACHED

14GA. CENTER HINGE

ATTACHED

W/ (5 174"

HEX HEAD

4 1/2°

TYPICAL CENTER HINGE 8

N.T.S.

14 GA DURASAFE

20GA. R-TRUSS
ATTACHED

W/ (@) 174" x 3/4"
HEX HEAD SCREWS AT
EACH CENTER STILE

x 3/4°
SCREWS

AJUSTABLE

25 GA SKIN
2

LARGE MISSILE
IMPACT RESISTANT

(M625 & M673)
4 GA SKIN (M950)
G30 GALVANIZED
W/ POLYESTER TOP COAT

\

2" 12 GA RESIDENTIAL
TOP FIXTURE ATTACHED
W/(4) 1747 x 3/4" HEX
HEAD SCREWS ADJUSTABLE
SLIDE BRACKET ATTACHED
W/@> 1/4" x 1/2* BOLT
AND NUTS

\<1> 3 5/8°H X 22 GA.

GALV. STEEL R-TRUSS LOCATED
ON TOP OF TOP SECTION

A ATTACHED W/ (3) 1/4" x 3/4"
1 HEX HEAD SCREWS AT EACH END
¥ STILE AND (@) 1/4" x 3/4" HEX

HEAD SCREWS AT EACH CENTER
STILE

END HINGE
14 GA.

21" MAX

LAZING OPTIONAL

VA

ROLLER CARRIERS ATTACHED TO
4 1/2* 20GA R-TRUSS W/(3
174* X 3/4" HEX HEAD SCREW

4 1/2°

\
20GA. R-TRUSS
ATTACHED//////(\

14 GA. END HINGE ATTACHED
W/ (3 1/4" x 3/4*
HEX HEAD SCREWS

2’ 10 BALL STEEL

9.5 STEM HURRICANE ROLLER
W/ RETAINERS FOR

NON THREADED SHAFTS

-

(1> 3 5/8°H X 22 GA

GALV. STEEL R-TRUSS LOCATED
ON TOP OF BOTTOM AND
INTERMEDIATE SECTIONS
ATTACHED W/ (@) 1/4" x 3/4°
HEX HEAD SCREWS AT EACH END
STILE AND (2> 1/74" x 3/4" HEX
HEAD SCREWS AT EACH CENTER
STILE

(1> 4 1/2* x 20 GA. GALV.

STEEL R-TRUSS LOCATED ON
BOTTOM OF BOTTOM SECTION
ATTACHED W/ (@) 1/4" x 3/4"

STOP MOQULDING
_. 33/4 MIN. __
| SIDEROOM |

W/ FLEXIBLE SEAL
(SUPPLIED BY INSTALLER)

(4> 20 GA, CENTER STILES

ATTACHED WITH (2 ]

TOG-L-LOC AT THE TOP aND \ 95’ STEM HURRICANE ROLLERS
BOTTOM RAIL AND ADHESIVE
TO INTERIOR FACE

12'-2"

INSIDE ELEVATION

N.T.S.

20 GA. GALV. STEEL END STILE
ATTACHED WITH <7> TOG-L-LOC
TO DOORS SKIN AND (2)
TOG-L-LOC AT THE TOP AND
BOTTOM RAIL

2’-10 BALL STEEL

(MIN> W/ RETAINERS USED FOR
NON THREADED SHAFTS

R P \

DR

(1> 1/4-20 x S5/8°TRACK
SPLICE BOLT AND NUT PER
JAMB BRACKET

\3 S5/8°H X 22 GA.
(3 5/8” R-TRUSS)

TRACK MOUNTING DETAIL

2" GALV. STEEL TRACK
TRACK THICKNESS .083"

CONT. VERTICAL JAMB 2X6—

W/ (2 1/4" x 3/4*
HEX HEAD SCREWS AT
EACH CENTER STILE

R-TRU
W/ @

HEX HEAD SCREWS

2 10 BALL STEEL

9.5 STEM HURRICANE

~_ T

TYPICAL END HINGE 3
N.T.S.

4 1/2° 20GA.
SS ATTACHED
174" x 374"

ROLLER

W/ RETAINERS FOR

NON THREADED

S5/16° x 1 5/8" LAG
SCREW (1> PER
JAMB BRACKET

SYP OR SPF

N.T.S.

(NO. 2 OR BETTER)

SHAFTS

TYPICAL BOTTOM BRACKET
N.T.S.

4

BOTTOM BRACKET
13 GA. THICK ATTACHED
W/<(4) 174" X
HEX HEAD SCREWS

374"

HEX HEAD SCREWS AT EACH
END AND CENTER STILE

13GA. BOTTOM BRACKET
ATTACHED W/ (4) 1/4" x 3/4"
HEX HEAD SCREWS

CONT. STEEL RETAINER
W/ CONT. BTM SEAL

SECTION A—A (SIDE VIEW)

END ZONE, ROOF AT ANY SLOPE):

THE METHOD OF TESTING WAS IN SUBSTANTIAL
CONFORMANCE WITH THE PROCEDURE DESCRIBED IN DASMA
108—-05 & 115-05, AND ASTM E330-02, E1886-05,
E1996—-09, & F588—07. THE PRESSURES SHOWN ON THE
DRAWINGS WERE CALCULATED USING ASCE 7-16 WITH THE
FOLLOWING PARAMETERS (5 FEET OF DOOR WIDTH IN THE

N.T.S.
REV | DESCRIPTION OF REVISIONS DATE BY
A ADDED HERITAGE MODEL/DRAWING UPDATES 3N/2  [RIR
-"Qs‘o‘;;\“\ This document has been
MAX SIZE, o “E """" 5*4 \l. digitally signed & sealed by
122 x 14 e ‘é Thomas L. Shelmerdine, PE
i on the date shown.
DESIGN LOADS Printed copies of this
+47.4 PSF NE doc%ment are not
—-54.8 PSF | " o~ 85829 Fo considered signed &
(AN G sealed, and the signature
Y ?“ .S‘;:CENSE;\\\\Q-,-’: must be verified %n any
TEST LOADS \\\\O\I\J\A\\;‘__." electronic copies.
+71.1 PSF
822 PSF |\ Thomas L g
anuaIiﬁer:AOW410D0000017E7D;F965F
Shelmerdine &&ss st
LARGE MISSILE
IMPACT Thomas L. Shelmerdine, PE (TX PE #85829)
Structural Solutions, PA (TX Firm #F-004063
RESISTANCE 59r2ulc-gr\7\/. gri%r%?j?ysAve.(, Gregrrgboro, NC 27)410 TX

arr,

MODEL #625 AMARR LINCOLN 1000, 2000

MODEL #675 AMARR HILLCREST 1000, 2000

MODEL #950 AMARR HERITAGE 1000, 2000

WIND SPEED (MPH) | 226 | 205 | 195 |186| 179
EXPOSURE LEVEL B C C D D
MEAN ROOF HEIGHT | 30’ 15’ 25" | 15" | 25

SIZE

B

DRAWN BY  RIR| DATE 12/04/17 DRAWING NUMBER

CHECKED BY RIR | DATE 12/04/17

165 CARRIAGE COURT WINSTON-SALEM, N.C. 27105

AMARR COMPANY SHEET 1 OF 3

IRC-6212-175-24-1




033" GALV STEEL INTERIOR IMPACT WINDOW FRAME

B B
18-1/8" DLO 0337 GALV STEEL EXTERIOR IMPACT WINDOW FRAME W/.5° BITE ON GLASS Q Q é d h
T2 7 5 2 o % ECORATIVE PLASTIC INJECTION 24 GA. STEEL DOOR SKIN & s : : .
< e MOLDED EXTERIOR WINDOW FRAME - = - ==
- lze 5/16° OVERALL 5. // Bl (N // // Al // - . // )
1/8° CLEAR ANNEALED GLASS 4h0 7 [ / l /I 7 [ /[ s
.090° SOLUTIA PVB INTERLAYER AN I (B A-ll: :L: <{-li: :
10-5/8* DLO o2 2o /1/8' CLEAR ANNEALED GLASS e - - H e | [ | CNC S S — ﬁ crmrasraramrn | K | VoS —r—n
MANUFACTURED BY GUARDIAN % % % %
3 . v
2 2, Z = SUREBOND SB-190
23 2 3 2 S = = STRUCTURAL ADHESIVE
OPTIONAL TOP SECTION IMPACT GLAZED LAYOUT
2.3/16° X 1/2* SCREW - USED TO
IMPACT GLAZING FASTENER DETAIL FASTEN THE STEEL EXTERIOR IMPACT WINDOW FRAME TO N.T.S.
N.T.S. THE STEEL INTERIOR IMPACT WINDOW FRAM
3.11/64* X 1/2* SCREW - USED TO fASTEN DECEIRATIVE PLASTIC MOLDED
GLAZING MEETS ASTM E1300-04 WINDOW FRAME TO THE ASSEMBLY

SECTION B-B IMPACT WINDOW DETAIL

NT.S. -g?ﬁllh A
/T ./. T
% 3

INTERIOR OF GARAGE

—=—{ MAX. WIDTH 12'0" [=—

WOOD JAMB ATTACHMENT TO STRUCTURE (OPTIONAL)

pesioN Loaps[ T T T T T T[T [ 1] OPTIONAL INTERMEDIATE SECTION IMPACT GLAZED LAYOUT
+288.4 LBS/FT SEE NOTE 2 N.T.S.

2 X 6 VERTICAL JAMB ATTACHMENT TO WOOD FRAME STRUCTURE —333.4 LBS/FT

5/16” X 3” LAG SCREWS STARTING 6" FROM ENDS

THEN 16" 0.C. (1 1/2” EMBEDMENT) SPECIFICATIONS AND NOTES

2 X 6 VERTICAL JAMB ATTACHMENT TO 2,000 PSI CONCRETE 1. ALL THE LOAD FROM THE DOOR IS TRANSFERRED TO THE VERTICAL TRACK,

HILTI KWIK BOLT 3/8" X 4" STARTING 6" FROM ENDS 7 T T HORZONTAL JAMB OR HEADER NECEIVES NG PORTION OF THE  LOAD

TRANSFERRED FROM THE DOOR.

2. EACH VERTICAL JAMBS RECEIVES MAXIMUM DESIGN LOADS OF:
+288.4 LBS/FT & —333.4 LBS/FT

3. DOORS AND HARDWARE WILL BE DESIGNED, MANUFACTURED
AND INSTALLED WITH STANDARDS AS SET FORTH BY DASMA.

4. DOOR SECTIONS SHALL BE 25 GA. MIN. (.019") EXTERIOR SKIN
ROLLED FORMED, G30 GALVANIZED W/POLYESTER TOP COAT

5. SUPPORTING STRUCTURAL ELEMENTS SHALL BE DESIGNED

BY A REGISTRED PROFESSIONAL ENGINEER FOR WIND LOADS
INDICATED ON THIS DRAWING IN ADDITION TO OTHER LOADINGS.
6. REFER TO TABLES ON PAGE 3 FOR ADDITIONAL DOOR WIDTHS

THEN 24" 0.C. (2 1/2" EMBEDMENT)

HILTI SLEEVE ANCHOR 3/8" X 2-3/4" STARTING 6” FROM ENDS

THEN 14” 0.C. (1 1/4” EMBEDMENT)

ITW/RAMSET REDHEAD (TRU—BOLT) 3/8” X 4” STARTING 6” FROM ENDS
THEN 24" 0.C. (2 1/2" EMBEDMENT)

2 X 6 VERTICAL JAMB ATTACHMENT TO HOLLOW C-—90 BLOCK
SIMPSON 1/4” X 3" TITEN SCREWS STARTING 6” FROM ENDS,

BE

USE PAIRS OF FASTENERS (3” APART) AND THEIR DESIGN PRESSURES REV | DESCRIPTION OF REVISIONS DAE  [BY

AT 8” 0.C. (1 1/2” EMBEDMENT)

7. DOOR IS MANUFACTURED AND TESTED IN ACCORDANCE WITH THE 2018 IRC/IBC.
HILTI 1/4” X 2—3/4" KWIK—CON I+ SCREWS STARTING 6” FROM ENDS, A ADDED HERITAGE MODEL /DRAWING UPDATES 31/2 [RIR

ATTLLLTLLIAT -~ LLTLLLTLRIUR = ARRLURURUURRRRNT © AW

N Y

]
USE PAIRS OF FASTENERS (3" APART) AT 8" 0.C. (1 1/4” EMBEDMENT) ' MAX SIZE .-".-:E‘O‘F;; o his document has been
2 X 6 VERTICAL JAMB ATTACHMENT TO GROUTED C—90 BLOCK (2000 PSI GROUT - 122 x 14’ PN :_t’.ywl' digitally signed & sealed by
HILTI SLE'I'-:VE ANCHOR 21’91/8" X 2—-3/4” STARTING 6” FROM ENDS | DESIEN LOADS ’,’*. é&.gnat&ré Th°g“na§hLéZ’;fL”;ﬁg‘1:’Tf' PE
THEN 18" O.C. (1 1/4 EMBEDMENT) +47.4 PSF BGD‘&‘ ngtcicrlnceorg?eoggzis
(OR, USE FASTENERS FOR HOLLOW C—90 BLOCK) A —54.8 PSF ) 85829 __-'Q_l considered signed &
*LAGS AND BOLTS CAN BE COUNTERSUNK TO PROVIDE A FLUSH MOUNTING SURFACE. ’-Q;‘ WO LeEnsED. \g’f’, Sgadigbaenvimﬁj%ma;‘;;e
*PREPARATION OF WOOD JAMBS BY OTHERS AE[ TEST LOADS ‘\‘9‘9(6]\]]&{&“ = electronic copies.
i +71.1 PSF o
- wooD CONCRETE S50 TRAGK. SPLICE —-82.2 PSF
= STRUCTURE STRUCTURE BOLTS & NUTS
() - —
= - pr
E \ \ 3 giuesaﬁAN.IIu'I)NERVERTICAL TRACK LARGE MISSILE
& i i IMPACT Th L. Shelmerdine, PE (TX PE #85829
ul ._.<| |_|<| £ RESISTANCE Structural Sol_eugqoer:s,lgz (TX (Firm #F-OO406)3) TX
\_ =] e £ § 5921-G W. Friendly Ave., Greensboro, NC 27410
_I_‘_ 2X6 JAMB __I_L_ £ |5 3 g
172" MIN TYP. 2-3/4* MIN x |Z|P & g §
1 L L ary
HOLLOW BLOCK H T
GROUTED BLOCK
STRUCTURE STRUCTURE
MODEL #625 AMARR LINCOLN 1000, 2000

| m Tl MODEL #675 AMARR HILLCREST 1000, 2000
= i ! MODEL #950 AMARR HERITAGE 1000, 2000

1-1/2* MIN _.ﬂ._ I-—'I AVAILABLE TRACK CONFIGURATIONS SZE| DRAWNBY RIR| DATE 12/04/17 DRAWNG NUMBER
3’ MIN

4 N.T.S.
B | CHECKED BY RIR | DATE 12/04/17 IRC-6212-175-24~1

AMARR COMPANY
165 CARRIAGE COURT WINSTON-SALEM, N.C. 27105 SHEET 2 OF 3




TABLE 1

DOOR TRACK ATTACHMENT
HEIGHT [ A B C D E F G H [ J K L M N [¢) P Q R S T 1] v w
7 [ 0" | 35 | 10.0" | 22.0" | 34" | 46" | 58" | 70"
7| 6" | 3.5"|10.0" [ 22.0" | 34" 46" 58" 70"
8 [ 0" 35 [10.0"[22.0"[ 34" | 46" | 58" | 70"
8 | 6 | 35 | 10.0" | 22.0" | 34" | 46" | 58" | 70" | 82"
9 [ 0" | 35" | 10.0" | 22.0" | 34" | 46" | 58" | 70" | 82"
9 | 6" | 35" | 10.0" | 22.0" | 34" | 46" | 58" | 70" | 82" | 94"
10 [ 0" | 35" | 10.0" | 22.0" | 34" | 46" | 58" | 70" | 82" | 94"
11| 0" | 35" | 10.0" | 22.0" | 34" | 46" | 58" | 70" | 82" | 94" | 106"
12°[ 0" | 35" | 10.0" | 22.0" | 34" | 46" | 58" | 70" | 82" | 94" | 106" | 118"
137[ 0" | 35" | 10.0" | 22.0" | 34" | 46" | 58" | 70" | 82" | 94" | 106" | 118" | 130"
14" [ 0" | 35" | 10.0" | 22.0" | 34" | 46" | 58" | 70" | 82" | 94" | 106" | 118" | 130" | 142"
15| 0" | 3.5" | 10.0" | 22.0" | 34" | 46" | 58" | 70" | 82" | 94" | 106" | 118" | 130" | 142" | 154"
16" | 0" | 3.5" | 10.0" | 22.0" | 34" | 46" | 58" | 70" | 82" | 94" | 106" | 118" | 130" | 142" | 154" | 166"
17| 0" | 35" | 10.0" | 22.0" | 34" | 46" | 58" | 70" | 82" | 94" | 106" | 118" | 130" | 142" | 154" | 166" | 178"
18" [ 0" | 3.5" | 10.0" | 22.0" | 34" | 46" | 58" | 70" | 82" | 94" | 106" | 118" | 130" | 142" | 154" | 166" | 178" | 190"
19| 0" | 35" | 10.0" | 22.0" | 34" | 46" | 58" | 70" | 82" | 94" | 106" | 118" | 130" | 142" | 154" | 166" | 178" | 190" | 202"
20| 0" | 3.5" [ 10.0" | 22.0" | 34" | 46" | 58" | 70" | 82" | 94" | 106" | 118" | 130" | 142" | 154" | 166" | 178" | 190" | 202" | 214"
21 | 0" | 35" | 10.0" | 22.0" | 34" | 46" | 58" | 70" | 82" | 94" | 106" | 118" | 130" | 142" | 154" | 166" | 178" | 190" | 202" | 214" | 226"
22 | 0" | 35" | 10.0" | 22.0" | 34" | 46" | 58" | 70" | 82" | 94" | 106" | 118" | 130" | 142" | 154" | 166" | 178" | 190" | 202" | 214" | 226" | 238"
23 | 0" | 3.5" | 10.0" | 22.0" | 34" | 46" | 58" | 70" | 82" | 94" | 106" | 118" | 130" | 142" | 154" | 166" | 178" | 190" | 202" | 214" | 226" | 238" | 250"
24 [ 0" | 35 | 10.0" | 22.0" | 34" | 46" | 58" | 70" | 82" | 94" | 106" | 118" | 130" | 142" | 154" | 166" | 178" | 190" | 202" | 214" | 226" | 238" | 250" | 262"
ALL TRACK ATTACHMENTS +/— 2” ALLOWED USING SYP OR SPF NO.2 OR BETTER ONLY
TABLE 2 TABLE 3
Section Conter Stile Locati DOOR SECTION HEIGHTS
enter Stile Location
i | Panel Tvpe Mommtrne ot Lot Enge) HEIGHT [Btm | #2 | #3 | #4 | #5 | #6 | #7 | #0
(ft) 14'0" (214" | 21" | 21" | 21" | 21" [ 21" | 21" | 21"
8' 0 | Short, Bead Board 24.8 48.0 71.2 13' 6" 21" 21" 121" [ 21" [ 21" | 18" [ 18" | 21"
872 | Short, Bead Board | _25.8 | 49.0 | 72.2 — S S S ol S o o
84 | Short, Bead Board| 266 | 500 | 734 13'0" (21" | 21" [ 21" | 18" | 18" | 18" | 18" | 21
86 | Short, Bead Board| 267 | 51.0 | 753 126" | 21" [ 18" 18" | 18" [ 18" [ 18" | 18" [ 21"
88 | Short, Bead Board | 27.3 52.0 76.8 — - ~ - ~ - - -
8' 10| Short, Bead Board 28.0 53.0 78.0 12'0 21 21 21 21 21 18 21
9'0 [ Short, Bead Board| 28.6 54.0 79.4 11' 6" 21" (21" 21" 1 18" | 18" | 18" | 21"
92 Short, Bead Board 29.4 55.0 80.6 A" " 1] 1] " n " "
9'4 | Short, Bead Board 30.4 56.0 81.6 Y 21 18 18 18 18 18 21
9'6 | Short, Bead Board | 31.4 57.0 82.6 106" [21" 21" 21" | 21" | 21" | 21"
9' 8 | Short, Bead Board 32.4 58.0 83.6 10' 0" 21" (21" 121" 18" [ 18" | 21"
9 10[ Short, Bead Board| 334 | 50.0 | 84.6 S T B P Shani P O Ml
7070 | Short, Bead Board | 252 | 484 | 71.6 | 94.8 9'6 21" 118" | 18" | 18" | 18" | 21
10'2 | Short, Bead Board| 259 | 493 | 72.7 | 96.1 90" |18"118"[18"| 18" [ 18" | 18"
10'4 | Short, Bead Board | 26.0 50.3 73.7 97 1 — - - - - -
706 [ Short. BeadBoard| 264 | 508 | 752 | 996 8'6 21" [ 21" [ 21" | 18" | 21
10'8 | Short, Bead Board | 27.4 518 | 762 | 100.6 80" |21"118"|18"[18"| 21"
10' 10| Short, Bead Board | 27.5 52.5 775 | 1025 — - - - - -
11' 0 | Short, Bead Board 28.5 53.5 78.5 103.5 7 6 18 18 18 18 18
11"2 | Short, Bead Board | 28.6 54.2 79.8 105.4 7'0" 21" 1 21" 21" | 21"
11' 4 Short, Bead Board 29.6 55.2 80.8 106.4 " Qn n " n [
11' 6 | Short, Bead Board 30.6 56.2 81.8 107.4 6'6 21 18 18 21
11' 8 | Short, Bead Board 31.6 57.2 82.8 108.4
11' 10| Short, Bead Board 24.6 47.8 71.0 94.2 117.4
12' 0 | Short, Bead Board 25.6 48.8 72.0 95.2 118.4
12' 2 | Short, Bead Board 26.2 49.6 73.0 96.4 119.8

14 GA. (MIND FLAG BRACKET
ATTACHED TO wOOD JAMB

wW/(3> 5/16 DIA, X 1-5/8”
AND TO TRACK W/<(4) 1/4'-
TRACK SPLICE BOLTS AND NUTS

LAG BOLTS
20 x 5/8*

L

0 00000000

14 GA. SPLICE BRACKET ATTACHED
TO wOOD JAMB W/ (1> 5/16 DIA. X
-5/8" LAG BOLT AND TO TRACK W/
(4> 1/4"-20 x 5/8” TRACK SPLICE
BOLTS AND NUTS

D

f
c

R

B

[

il
f

12 GA. GAL

> 5/16* DIA. x 1-5/87

ATTACHED TO JAMB

LAG BOLT
/AT EA. JAMB BRACKET

V. STEEL

JAMB BRACKETS

ATTACHED W/<1> 1/4'-20 x 5/8
TRACK SPLICE BOLT & NUT

TRACK ATTACHMENT CAN BE BRACKET
MOUNT, CONTINUOUS, REVERSE ANGLE
MOUNT OR TAPERED REVERSE ANGLE
MOUNT. (SEE AVAILABLE TRACK

CONFIGURATIONS ON THIS PAGE>

ALL TRACK BRACKETS AND TRACK

CLIPS ARE ATTACHED TO TRACK

WITH (2> RIVETS OR <> 1/4°-20
BOLT & NUT

ALL TRACK BRACKETS OR TRACK
CLIPS ARE TO FOLLOW SPACING AS

INDICATED

TRACK CONFIGURATION FOR UP TO 14’ TALL DOORS

REV | DESCRIPTION OF REVISIONS DATE BY
A ADDED HERITAGE MODEL/DRAWING UPDATES 3N/2  [RIR
“\\\\\
OF \ This d t has b
1M2A%( XSI%E FaM RES T5*4 ‘l, digitally signed & sealed by
;’. °’ tll.ré ThomashL. zhelmﬁrdine, PE
b on the date shown.
DESIGN LOADS ;ee_mg,\_t_,_ Ignas Printed copies of this
+47.4 PSF INE document are not
—54.8 PSF considered signed &
sealed, and the signature
must be verified on any
TEST LOADS s electronic copies.
\\\*"
+71.1 PSF
—-82.2 PSF
LARGE MISSILE
IMPACT Thomas LI Shlelmerdme PE (TX PE #85829)
S t Solut , PA (TX Firm #F-00406
RESISTANCE Sgglc gr\?v I?rlltjaric()ill";Ave ( Gregrrgboro, NC 2;410 TX

arr,

MODEL #625 AMARR LINCOLN 1000, 2000
MODEL #675 AMARR HILLCREST 1000, 2000
MODEL #950 AMARR HERITAGE 1000, 2000

SIZE| DRAWNBY  RIR| DATE 12/04/17 DRAWNG NUMBER
B | CHECKED BY RIR | DATE 12/04/17 IRC-6212-175-24~1
AMARR COMPANY
165 CARRIAGE COURT WINSTON-SALEM, N.C. 27105 SHEET 3 OF 3




	t1
	t2
	t3

		2022-03-11T08:46:57-0500
	Thomas L Shelmerdine




